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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following as directed : 1x10=10
AR PRs Wet SRpR Tes

(a) What is the norm or ideal of logic as a
normative science?

aﬁwﬂ%ﬁ@mmﬁwﬁwmw*fﬁ?

(b) ‘~p’ is a simple/compound statement.

( Write the correct answer )
“~ p qB1 7Fer/ (A RS |
(o T forn )
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(2)

(c) Give an example of an argument.
41 3 et fea |

(d) How many kinds of propositions are
there according to the modern
classification of propositions?

Wiy ARSI PR I (@R PR 2

(e) On what the validity of an argument
depends?

IR e ey @oRe g w1 7

(1 Do you think that if all the premises of
an argument is true then the argument
is valid?

B P& MBI AT B WF T
T &34 27 3t SR 2

() Under what combination of truth-values
a conjunctive function becomes true?

TR FRQ@MS BT eeaes T T
2’9

(h)

Can 2 Proposition be both true and
false?

1 T4 %7 1 ey TS 7' A& 2
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( 3)

() ‘Aristotle is a philosopher—is a general
proposition/class-membership pro-
position.

( Write the correct answer )

‘GRE’TE a5 WS SfRe’—u3 6081 9Bl
ST 54/ C4at TSl o |

( o7 Sl fovr )

(i) State under what circumstances two
sets A and B are identical.

5 “iRfEfee 701 51zfS A IF B @i 279
2. Answer briefly : 2x5=10

(a) State the definition of logic as put
forward by 1. M, Copi.

I. M. Copi ¢ W5CORI SHIWFL LRI
e 41 |

(b) What is formal logic?
GRS She 2
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(4 )
() Under what two conditions an argument
becomes sound?
R o1 v of T 9ol I WD IRy
(sound) Jf1 P12
(d). What is a decision procedure? Is truth
table a decision procedure?
fefre efem e & @2 o ofim g
e stferan =ve 2
(e) Define propositional variable.
IHE TG Sigest T3y |
3. Answer briefly (any jfour) : S5x4=20
5 Teq faa (R e wif{ot)
(a) Describe the structure of an argument
with the help of an example. : S
1 SHIRIICT CTCO T 516 I 7 |
(b) Explain briefly about five logical
constants. S
ST FF A B AP AL «F HY I
HIHCOIT |
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( 5)

(c) Define a general proposition with an
example. Explain the three types of
general proposition briefly. 2+3=5
9B THIEIECI CCS AMWD I61 e o | fof
2P ST o4 HICF A1 F41 |

(d) Explain and illustrate union of sets. . 5

Sy Ay A e o S ™o
el

(e) Explain conjunctive and implicative

functions with truth table. 2Yot+2Y2=5
19} SIRTER IS AT % PR Fore
IR <A1

4. What is an argument? Explain the
distinction between an argument and
argument-form with suitable examples. 10

& FE Q@ ? EWWWW{%’WW{F@-
TR qGo 431 A1 0 0

5. What is truth table method? Explain the

truth table method of determining the
validity of arguments with suitable examples. 10

a7 ISl a7 5T I *Tafot T (FCIT
(et el Py o <, ST ST O
I |
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(6)

Or / 3

Find out the logical status of the following
statements with the help of truth table

method : 5x2=1
13 O WWWWWWW
ey 1

(@) [~~(pv~q)>~(pv~~q)
() (~p=q)=[(~p>q)-(g>~ p)

6. What is a simple proposition? Define each of
the different forms of simple proposition with

examples. 10
e /A FIF QT ? ]E /A9 [feq APTRA
ACORII SHRIPTR 5] foraT |

Or / #13q1
Explain the modern classification of
proposition.

361 IS CHARe 7= |

7. Define set. What do you mean by
set-membership? Explain with examples. 10

ST K@ ol | AT T e B qw 2
THIRIPTR 77471 A1 |
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( 7 )

Or / =331

Symbolize traditional AEIO propositions by
using set notations. Define and illustrate the

following :

4+6=10

ARITS AEIO TPTE RS S8Rz [Nl

AOPET TS P 1 | oo AP Trizgepiz

e for
(a) Difference of sets
SRS AN
(b) Empty or null set
5 A1 R e
(c) Intersection of sets
B AR CHAT
* K H
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